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SECTION - I
. gue -1 - |
CHILD DEVELOPMENT AND PED.AGOGY
- R foreror fat

There are 30 questions in all in this section.
- All'questions are compulsory.

39 @vs § et 30 W €
[ty atfrerd €1 .
1. According to NCF 2005, the main goal of Mathematics education is
A). Training of teachers |
B) Classroom learning .
Q) Mathematisation of Child's thinking
(D) Course content of Mathematics

TAHTE. 2005 % SR, v freror 1 g 32eE &
(A)  Rreshi =1 wfvreor |
(B) FETwE s

(C) STeTeh & Fa =1 NfvTelergor

(D) T Y ferreg

2. Learning through reward and punishment ié related to which theory of

learning ? :
(A)  Social learning (B)  Operant conditioning

(C) Classical conditioning =~ (D) Cognitive theory .
mﬁaﬁﬁwm%w@&ﬁ@mm%mm@wﬁm% ?
(a) | R B FFEE s

(©) T e (D) eI fagr

Which of the following is not a process related to learning during childhood ? |
(B) Reflection

(A) Past experience
(C) Imagination (D)  Argument

mﬁ@ﬂq@mm%ﬁmﬁ@##mqﬁg )

: . (B) Wfafss=
(A) & I
© T D)
‘ P.T.O. |
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Which tests are designed toAmeasﬁre the effeets of a.specific programme or
training ? »
(A)  Personality » : - (B) Intelligence
(C) - Achievement | ' (D)  Creativity

".wmmmwma;mwwma;faam'maﬁwﬁﬁ

Qﬁw%mﬁmwm% ?

w wew @ =

() SRy (D) T

At which stage of development an 1nd1v1dual faces the problem of 'vocational

- adjustment ?

(A) ‘Qldage. . (B)  Adolescence
(C) ~ Childhood 3 (D)  Infancy

Wﬁ%mﬁ@mmmﬁmwmm%7
() - FgEET . (B) fewviErEm

(C) STeTeET | (D) ey SHeEERn

Which of the following is ['not, a' biological factor determining individual

- differences ? - .

(A)  Heritability * N (B) Innate temperament
(C) Parent- ch11d relatlonshlp (D) Physical health

safirar e 1 P e & ey § @ s e R A E 2
) TR (B) S wEE

(© ShTEEEeE W (D) Wi @

The cause of Down's syndrome is ' '

(A) Trisomy-20 (B) Trisomy-21
(C)  XXY chromosome (D) Trisomy-22

TS TR FFROTE
A PRERI20 B) FrrrgEA-21
€ orPRE. (D)  FrURETEr-22

oo [N g
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8. The concept of reliability refers to

(A)  Objectivity of instructions (B) Purpdse of meas,ureinent

(C) Consistency of scores (D) Uniformity of scoring
ferarartae =t stauren ¥ emeE ¥
(A  Fe =t segfrea (B) TIH H I
(C) WIeTehl =t STEEIRET (D)  TIUHT S FHETA
9. Which of the following ivs‘not an example of projeétivé test ?
(A) TAT | "~ (B) SCT
(C) DrawaMan ‘ (D) MMPI
Frpaftfia & & F-a1 wd weT 1 ST TR § 2
&) dAwd B TEE A
(C)  $THA (D) UF TH 9 3T
10. Who propounded the theory of multiple intelligence 2
(A) Howard Gardner . (B) Jean Piaget
(C) David Weschler (D) ~ Erik Erikson
Sg-afg ®1 fagra e faared feram 2
@A) FTEE MER ®) i
© 3z e D R wREE
11. "Human development goes on for a hfet1me although two people are not equal,

but the order of development remains same in normal children." Which principle
of development does this statement point to ?

(A) Principle of continuous development
(B) Principle of interrelationship
(C) Principle of uniform pattern

(D) Principle of general to specific responses -

PERPUR | 11111 — [eaa] e o,
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L et e e T R o
mﬂaf%amaqﬁlﬁm _'%”Azrg. 3 fea Tt F 3R dehd
TRt 7 fampre 1 FH T Tl e | |

0 o o Fegi
A) gad e = fasid B) TER HH . & .
: e, T o f
€) A gfawy a;rfq;giﬁ - (D W@_'é‘ﬁ'g S el i ?

12. Which is the final stage of cognitive development accqrdmg to Jean get -
(A) ‘Sensori motor stage (B _Formal operatmfial stage |
(C) Post-operational stage (D) ' Concrete opcratlona.l stage |
ﬁ}?ﬁwﬁ%a@ﬂmﬁmaﬁaﬁqmaﬁ?—ﬁ% ?

) ARk Jeft arerE B) I kAT SEE
(© IR G smwn (D) T S SEET

13. The Father of Genetics is |
(A) - Gregor Mendel » (B)' " Thomas Hunt Morgan
(C)  James Watson (D)  Charles Darwin
HIAT¥TeRT & 5T &

&) R A=A ) o9y e TrA
© o= aEE ) e e

14.° Who propounded the Psychoanalytical theory of Personality ?

@ Abraham M_asloW (B) Sigmund Freud
(C) ~ Carl Rogers (D)} Jean Piaget
e &7 TRIfaveTSUTee fagia fee wfaufa feare 2
(A)  3TSTEH AR - B fomewEe
(C) et AT * D) ¥ R

15 A 10 year old child has mental age of 12, then what would be his L.Q. ?
(A) 100 ® 90
(C) 120 D 110

45844 [T |



STL-I | - ey 7 g
T 10 T e A oy 12 & A SO e ah
(A) 100 ‘ -'(B) 50 '

© 120 ‘ , (D) 110

16. The psychological basis of teaching-learning depends on

(A) Teaching style (B) Course content

& ‘
(C) Language ‘ (D) Socio-economic status
feretor-sfer =1 AT emuR fpw W PR #ar ¥ 2
(A)  3TEIT Ieh B
| (C) ™ (D)  STHIfSTeR- 3T TR
17. According to RTE Act, 2009, the Pupil-Teacher ratio .for primary schools .
should be ' |
(A) 25:1 B) 35:1
(C) 40:1 (D) 30:1

AR A2, FuFEE, 2000 % TR S fener % ford frmed- s S
gl e |

(A) 25:1
(C) 40:1

18. 'Midterm Exam'is an examplé of

"(B) 35:1
D) 30:1

(A) Creative Assessment

(B) Norm-referenced Assessment

(C) Summative Assessment

(D)~ Diagnostic Assessment

[T e @ (B)  HGUS-HEIHA Hedish

(A)

o WWW - (D %ﬁ*wm

| 45844 lllll!lllllllll?lllll!llllllllli o (544 g _ PT.O.



| 19- | ey 'di:;;iSe e ; “(B) - Phenylkitonuria
A) AD _ .
((C), Parkinson's | (D)  HIV-AIDS .
HI-JT AT ST X 5 .
W TdmEd (B WA
(C) URfFEN . (D) UH.IR.A.-ugH
20. Whlch of the following is a performance test of intelligence ?
(A) ~ Bhatia Battery (B  Rorschach test
©) WAIS" (D) Raven's SPM
ﬁwﬂ-«rﬁaaﬁ@aﬁwmgkmﬁwm% > |
(A) i S0 B Al W |
€ s=juemuw. D) & F T
21. Remedial teaching is used for Wthh kmd of ch1ldren ?
(A)  Fast learners - (B) | Slow learners
(C) Gifted children ; (D) Creative learners
3qﬂmﬁ’mmw%wﬁ%fm}mm% >
@ T @) B e gy
OF Skrreiiies ) gull T G ¥ gy

22. Playway method of teaching is based on
(A) Theones of methods of teaching
(B) - Principle of growth and development
(©) Sociological principle of teachlng
(D) Phys1cal education Programme -

(A) maﬁﬁﬁq\f%fa@m
(B) ‘a’f’zakﬁmwfqm_
(0 e a1 @ g
D) TR N B

s (I
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23. Who was the Chairman of National Steering Commlttee on NCF, 2005 ?

(A) - Prof. Kothari o5y (B) Prof. Mchrotra
(C)  Prof. Yashpal ‘ - (D) Prof. Ram Murti
. W T, 2005 F LT Reaftn g & IE B A 2
(A) ‘;ﬁ Far ‘ I A
© W& - . (D) oo T
24, RTE Act, 2009 is for the children of which age group ?
(A 5-12 (B .12-18
C 7-15 | ' D) 6-14
AR A 5. s, 2000 66 3T W & wor! & o ¥ 2
@a s5-12 - . (B 12-18
C 7-15 (D) 6-14
25. Which of the following is not a physiological motive ?
e (A) - -Achievé'mént» _ J (B) | Hunger
(C) Thirst (D)  Slegp
| ﬁwﬁa‘r‘@aﬁ@ﬁmmm aﬁ:ﬁwﬂ’r% ?
(A) Juety B) &
(C) @™ o (D). g

26. The theory of learning proposed by Albert Bandura is
(A) Classical conditioning theory
(B) Cognitive theory ' |
(©) Insight learning
" (D) Social learning theory

Wa_\iﬂmmﬁaaﬁl’mmfa@a%
W e e e ) W g
© s D) e s
“s4¢ [MWIMMIN @0 [y 0 |




'  STL-1
10

g'g | ﬁow many personality factors afe proposed py Raymond Cattell ?
- (4) 05 ®
€ 16 S (D) ~ 08
TS 2 TR foer e e R Red T E 2
@ .05 .. . B 14
e 18501 . o o8

28; - Which of the following is not included in Maslow’s hierarchy of needs 9
(A)  Physiological needs '
B) Individuéiism and collectivism
(C) Love and belonging »
(D)  Self actualization _

ﬁﬁﬁ@ﬁq—mmaﬁwﬁ%mﬁmﬁﬁ% ?

A). feh ST (B)  HAfhAR TaH TEaTe
(C) e o Framga (D)  FHfElg
29. Two Opposing desires present in an individual at the same time is called
- (A) Conflict N (B) _ Frustration
(C)  Anxiety : (D) Pressure
'@mﬁWWWﬁWﬁWﬁWﬁWW%
) 7% B Fa
© fomm | D)
30. Which of the following researches is associated thh Stephen Corey ?
(A)  Basic resear ch _ | (B) Behavmural research '
(C) Scientific research (D)  Action research

%ﬁﬁ@mmmﬁﬁﬂﬁﬁwﬁm%;
(A) SR STpery B) R srri
it o e

ssae DM 0
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(D) aﬁmqﬁéﬁﬁwwﬁwaﬂ?nh
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(4 g B Y
(€ 3T Hfy i), SR R

35. ‘HA foavamd ¢ i 3= fhdl o= Sl 7t foom G2 e’ 3o oo @
(A) WA 9 ' B) fog s
© UIF aH (D) SR ST

36. ‘AU Ao Y@ g’ 37 9T & YR W T8 [hd THR HT A ¢ 2
@A) fagmeras | (B) TEEEH s
(C) Thardsh ' (D) STRTETES

37. ‘W-&m’mﬁmmﬁ%@ﬂmﬁ‘w'maﬁm%?
() e et (B) FAFHT W
(C) USI-YEeh ol (D) ST SO}
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A 3= (B)  Feiw
O e (D) STRpTSr
43 fsA ey gy |
A T HuTH Frey B T g gumh
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 SECTION - II
LANGUAGE -1
ENGLISH
There are 30 questions in all in this seetion.

All questions are compulsory.

Passage ( Q. Nos. 31-35 ) :

The folk dances of Rajasthan are inviting and engaging. They are bound to induce you

‘to tap a foot or two along with the dancers. Rajasthani dances are essentially folk
dances. Their origin is in rural customs and traditions. These traditional dances of
Rajasthan are absolutely colourful and lively. They have their own 31gn1ﬁcance and
~ style. They are attractive and skilful. They are enjoyed by every age group. The people
of Rajasthan love their folk dances. - : :

31. The words ‘inviting’ and engagmg’ are
(A) Nouns (B) Adverbs
(C) Adjectives - .~ = .= (D). Pronouns
32. The sentence ‘The people of Rajasthan love their folk dances” is in the

(A) Simple present tense (B) Present perfect tense

(C) Simple past tense (D) Past perfect tense
33. The word Rajasthan’is a/an - ‘ -

(A) Common noun ~ (B) Proper noun

(C) Collective noun (D) Abstract noun

34. Which one of the followmg sequences has the three degrees of tlie adjectives in

their correct form ?

(A) Lively, more lively, most liveliest

(B) Lively, livelier, liveliest

(C) Lively, more livelier, most lively

(D) Lively, more lively, liveliestly : ' e
35. Which of the following phrases has a determiner in it ? |

(A) Customs and traditions (B) Colourful an d lively
(C) Attractive and skilful (D) The folk dances
36. Measurement is a process of .................... evaluation. .
(A) Qualitative , (B) Quantita tiVe-
1€, Hnear (D) ' Unitary

}mmmmmmumuum. B
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37. Choose the cdrrect sequence of steps in managing clgssropm teaching :
(A) Controning, planning, organising, leading - ’
(B) Leading, organising, controlling, minding
(C) Organising, controlling, leaving alone, commanding
(D) Planning, organising, leading, controlling
38. The Language Laboratory is used for teaching
(A) Speaking skills (B) Listening skills
(C) Both (A) and (B) (D) None of these
39. Which of the following is not true of CCE ?
(A) It focuses on co-scholastic areas also
(B) It promotes holistic development
(C) Itis time consuming and punishing ‘
(D) It reduces stress and anxiety of the students
40. Evaluation of language proficiency is done through tests designed to evaluate
' which of the following skills ? |
(A) Listening, Speaking, Reading and Writing
(B) Listening, Reading ‘
(C) Speaking, Writing

(D) Writing

41. Which of the following is nota principlé of language teaching ?
(A) Principle of naturalness (B) ' Practice and drill -
(C) Learning by doing : | (D) Copying and pasting

42. Multi-line approach consists of
(A) use of models
(B) reaching the same target from dlfferent directions and means
(C) selection and gradatxon '
(D) all of these , _
43. Which of the following is true about the Grammar-cum-Translation method ?
(A) Mother tongue is used while teaching
(B) Form is more important than content
(C) Rote learning is encourageq

(D) Al of these
Which method is also known as the natural method of teaching Enghsh as

44.
second language ?
(A) Substitution method (B) Bilingual method
(C) Grammar-Translation method (D) Direct method

asses | MENININTI
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- 45. 'Which of the following English teaching approaches is student-centered and
. student-oriented ? ,

(A) Communicative approach (B) Situational approach
(C) Structural approach (D) Allof thésel
46. The two kinds of reading skills are . -
(A) verbal and visual reading (B) slow. and fast reading

(C) silent reading and reading aloud (D) . all of these :
47. Which of the following is a criterion for selection of a writing task to be
' the students to develop their writing skills 'd

given to

(A) Interest of students . (B) Level of the class
() Both(A)and (B) (D) None of these

48. Multimedia resources do not include
(A) Audio resources ' (B) Video resources

~ (C) Computers . (D) Pens and pencils

49. Who has given the concept of Transformational_ Generative Grammar ?
(A) Edward Sapir ' - (B) Romand akobson
(C) Noam Chomsky ; (D) Ferdinand de Saussure’

50. Which one of the following skills uses praise words and approving statements to
motivate the students ? : l ‘ '
(A) Response variation ' - (B) Explaining skill -
() Reinforcement | (D) »Lecturing
Passage ( For Q. Nos. 51-54 ) '

We all use roads. We walk on them or drive our vehicles on them. We go acrbss them
or walk on the pavements along them. In <;ities there are footpaths or pavements along
the roads. Those who walk on them are called pedestrians. It is safe to use footpaths if |
we are walking. ; ' '

Roads in big cities are very busy. They are crowded with all kinds of vehicles like

buses, trucks, cars, three wheelers, motor cycles, scooters, bicycles etc. Slow movin

bullock carts, horse carriages, €tc. can also be seen there. Walking and drivi g

such roads is always very risky. People in a hurry ignore the I'ules. e r::ilg 02
)ad an

cause accvider'lts. A lot of people die or get injured in such accidents |
way to avoid accidents is to obey the rules of the road ‘ S everyday. The best

51. The synonym of ‘pavement’ is
(A) Road

® Trafs
(C) Footway ) afic

| D) Walk

oo (UNNN

PTo
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52. The antonym of ‘busy’ 1s :
(A)  occupieq (B) idle
(©) tireq . et (D) freedom
5.3' Find out the Word from the passage that means, “The people who walk on a
Pavement». ' v
(A)  Bullock carts "~ (B) Horse carriages
(C)  Pedestriang | (D) Vehicles
S4. The Verb form of the noun ‘driving’ is -
(A) " drive ) _ " (B) ‘undrive
(C)  driver (D) none of these
SS.  The study of speech sounds 1s called |
Ay Morphology™ = = . ‘ (B) Etymology
(©) Phonology _ “_ v_ (D) Chronology
S6. The Phonetic Symbol for the underlined sound in the word ‘shy’ is
N VI | ’ I B) s
€ ¢ — (D) d3
57. Choose the eofrect phonetic transcription of the word ‘boy’ :
(A) /bz1/ o (B) " /bd1/
(C) /valy (D) = /bol/

S8. “The peon opened the gate

(A) The gate will be opened by the peon
(B) The gate was opened by the peon
(C) The gate is opened by the peon : ' .
(D) The gate has been opened by the.peon ’ |
59. Which questlon form is correct in its Structure ?

(A) Do you go to college yesterday ? '

(B) Does you go to college yesterday ?

(C) Did you go to college yesterday ?

(D) Did you go yesterday college ?

Which of the following words is correctly spelt ?

60. s
(B) ‘Vaccuum

( A) Vaccurh

@1 Vascum B Vg

4844, [T —  . : 44*
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- 36.
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£ 39. ANEY .Wﬁaﬁwma%? | |

(A) 90T e k. (B) . R
.. Fm‘:am% (D) @A wed
; \ g aéamaaﬁr O T Fef v T 2
(4)  FEER ffy: (B)  ITHA-Fe faf:
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SECTION - III
LANGUAGE - II
ENGLISH .
There are 30 questions in all in this section.
All questions are compulsory-

61. “’I‘wg roads diverged in a yéllow wood
And sorry I could not travel both
And looked down one as far as I could
To where it bent in the undergrowth”

The rhyme scheme of the above lines is o
(A) abaab (B) AAbaa

(C) ababa : : (D) Abbaa
62. T............ give him an answer if he had asked me.

(A) can | (B) may -

(C) could (D) m1ght

63. Choose the alternative which best expresses the meamng of idiom / phrase :

underlined in the sentence : :
“I met him after a long time, but he gave me the cold shoulder

(A) Scolded me (B) Abused mens
(C) Insulted me (D) Ignored me - -
64. Which literary term refers to the problem or struggle within a story ?
(A) Conflict o i | (B) Drama
(C) Action : ‘ - (D) Chmax
65. A form_of drama that is intended to amuse and that ends happ11y
(A) Tragedy : (B) Comedy
(C) . Biography | (D) Irdny :
66.‘ With ......... students come to see the tests not as a punlsﬁment e as\ :
useful feedback. The classmates work together for ¢ common 1ntellectual wellf: :
(A) Self evaluation : (B) Group ev aluatlon | are’
(C) Peer evaluation (D) CCE evaluation
67. “What do you think about the two candidates in thjg electlon ?” This is an
example of . This is an-
~ (A) Open ended question © (B) CIOSeende & ot ,
' (C)  Both (A) and (B) | (D) None of these

" assas (RGN j
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passage ( For Q. Nos. 76-80 ) :-

Kalaripayatt is T e
RO «'tsl traditional ‘art practised in Kerala. Though claims
18 | : o P
putable, foreign travellers mentioned Kalari being pra

which makes it the oldest martial -art to

early as the: 13th century

Kalari is i '

. ;:onmdered to be the most complete and scienti

i 10 all martial arts. Bodhidharma, a Bud
ari into.China and Japan. What makes Kalari

more than : i ‘
a martial art. A student of Kalari learns philosop
o avoid confrontations, wh

self defence and, above all, learns how t
somebody or defend himself. |

76. A student of Kalari learns ............coece
defence. : |
Fill in the blanks with the help of

(A) neither — nor
(C) motonly — but also

Kalaripayatt belongs to India .......co-ooo

444 ]

45844 IIIIIIIIIIIlIIIlIIHHIIﬂII

(D)

Karate belongs to Japan.

=

of its hea\}'enly

ctised in Kerala as

be in existence.

fic martial art and is the
dhist monk from India, introduced

unique is the fact th
hy, medicine,
ere he has to a

at it 1S much
attack and
ttack
elf

attack and S

given options : |

(B)

either — Or

as — as

77.
(A) that (B) whereas
©) if | (D) when'
78. Some people SHll ...oerieneeene of Kalari’s'heavenly origin.
(A) claimed (B) claims
(C) claim - (D) were claiming.
79. Kalari .....ocooo0e the oldest martial art to be in existence. |
(A) s (B) was
(C) were . - (D) are
~ 80. The most suitable title for the passage is
(A) Drawing and Painting (B) Mother of all Mortial Arts
©c T able Tennis (D) Lawn Tennis
81. Petrarchan’ is one of the categories of
(a) -Ode (B) Elegy
(C) Sonnet (D) Drama

P.T.O.
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83.

84,

85.

86.

87.

88.

89.

90.
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(A) Voiced consonants

(C)  Pure vowels _

- (A)" Victories
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The number of pure vowels is -
(B) 10

A 9 :
@ 11 D) 12
pt, k0,s, |,h, t]/ are called
(B) Voiceless consonants
(D) Impure vowels

Choose the correct phonetic symbol for the underlined sound of the word : '

Water
(A) /wot[/ (B) /west/
(C)  /wd:ta(r)/ (D) /wDry:/
' Find out the word which begins with different sound from other given words :
(A) Reach (B) Reap
(C) Rich (D) Read

“When to the sessions of sweet silent thought.”

Which literary device is used in the above line ?

. (A) Alljtefation (B) Personification
(C) Simile (D) Metaphor
What device is present in the line “If ought of oaten stopor pastoral song” ?
(A) Irony (B) Assonance
(C) Paradox (D)" Alliteration

“She was a phantom of delight.”
Which literary term is used here ?

(A) Elegy (B) Simile
(C) Metaphor (D) Sonnet
“As green as emerald” is an example of
(A) Allegory | (B) Hyperbole
(C) Satire (D) Simile

“Peace hath her vi_cton'es
No less renowned than war.”

What is personified in these lines 2
(B) Renowned

(C) Peace (D) A Less
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91.

92.

- How many bricks of measure 25 cm x 16 cm x 10 cm are r¢

(A) 11750

SECTION - IV / @S - IV
MATHEMATICS / 7Ot
There are 30 questions in all in this section.

All questions are compulsory.
7 @ue § Fo 30 W €
vt w3t €
| quired to make a

wall of size 20 m long, 5 m high, 50 cm thick, while there are two doors of size

2 m x 15 m in the wall ?
(A) 11750 (B) 11000
(C) 117500 (D) 97500

2()TﬁZT:Fﬁ3ﬁ;ESTﬁZI'§Fﬁ'3ﬂ? SO'QIﬁIﬂiiéﬁiﬂ‘ﬁﬂaﬁ'drararﬁ_zlﬂzw x 1-5 HIZX

g & & e A 25 W x 16 Al X o et s 8 P 42 Y ST A 2

@ [ 11000

97500
(©) 117500 D)

f OP| |RS 'IAOPQ - 100° and ZORS = 140°, then ZPOR is equal to
In given figure ’ _ . _

R N 2,
(B) 60° ' : [‘
0° o i
A 8 D) 50 ;5
0° ok
© -7 IIIIII - P.T.O.
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94.
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% T Fam # OP| RS, ZOPQ = 100° T ZQRS = 140° &l £PQR ST &M

R > - S > :
140°
o —> 3
100°
Q

(A)  80° B  60°

€ 70° _ (D) 50°

For multiplication of two decimal numbers, such as 04 x 02 = 0-08, an
appropriate teaching-learning tool to explain the concept is |

(A)  Dienes block | (B)  Number chart

(©) Counting star (abacus) = (D) Graph paper
ﬁwmﬁwwﬁ@omog oosﬁwﬁwsﬁas%rqaﬁa
RTET- arfrmy e & ‘ |
A) AT s (B) deE ?,;Té

© fraRr(em@F®) o) wam

Which of the following represents 9, using tally rﬁarks 2

@A W W o B) W |

©c M 111 D W WK
'Wﬁﬁwwmaﬁ#ﬁ@aﬁ#ﬁqﬁmgﬁmﬁmm >
@ Mo (B) W M|

T O MW



95. If monthly salary of a person is Rs. 24,000, central angle of the sector, showing

the expenditure on education by pie-chart is 60°, then the expenditure on
education is :

(A) Rs. 4,000 - N . -

(B) Rs. 8,000
(€} Rs. 3,000 (D)  Rs. 6,000

@wﬁﬁmma‘ﬂzmooo To | 3k e W R @t o W S
mewmﬁo%a}mﬁmwmm

(A) 4,000 o (B) 8,000 Bo
(C) 3,000 %o (D) 6,000 Bo
96. The difference between the greatest and the lowest prime numbers of two
digits is :
(A) 88 (B) 86
€ 89 . (D) 95
ﬁﬁﬁﬁa@a@am@ﬁém@mﬁw%,
a) 88 (Bl 86
(© 89 _ (D) g5
97. If the cost of 12 dozen pens is Rs. 720, then the cost of 25 pens is
(A)  Rs. 1,500 (B) Rs. 150 |
(C) Rs.125 - (D) Rs. 1,250

AT 12 o U F1 Jog 720 B 2, dF 25 &:ﬁwmm
(A) 1,500 Bo (B) 150 %o |

(C) 125%0 (D) 1,250 ®o

98. The average weight of 5 students is 40 kg, If one Student 6fw .
them, then the average weight of remaining Students jq cight 50 kg has left
(A) 50 kg B) 375,

(©) 30 kg (D)

*Ssaq NI - X
L o . ; D "~ .

62-5 kg



5 } | " o o st

: ' : [ RoreeT AR 50 foF &, B el
. 5mmaﬁﬂam4oﬁm%lﬂﬁ3ﬂﬁ@@m | «E '
g, A5 T o afma R &M
(A) 50 kg B) 375kg
(C) 30kg D) 625kg
99. . If a product is sold on 10% proﬁt at selling price Rs. 330, then cost price of the ‘
product is
(A)  Rs. 360 - (B) Rs.363
- (©)  Rs.297 ' (D) Rs. 300

T T 10% T F fosh o 330 o W A S &, Al I AEG BN HA TAE
(A) 360F (B) 363 %o |

(C) 297%0 (D) 300 %o

. 100. In a school under 'shramdan’ camp, 12 students clean for 7 hours. If equal part
needs to be cleaned in 6 hours, then how many students will be required ?

A) 14 (B) 12

(C) 16 | : (D) 15

U fererera 5 ‘quem’ o & aimriaue sy uod s o A I &
6 T02 T W% FTT &, al b BT ) Srervgsar el ?

A 14 ' B) 12

C) 16 D) 15
101. The digit fo@ of one crore one lac one thousand one hundred ang one, is
(A) 11111101 (B) 10101101 |
(C) 10010101 (D) 11101001

T G T A T IR T W T 1 367 ¥ @

(A) 11111101 (B) 10101101

(©) 10010101

T T

(D) 11101001




SsTL-1
102.

103.

104.

105.

If31P5 is multiple of 3, where pis ten's digit then the gree==="
@ 9 B 3
© © - Do S
ofc 31P5, 3 F1 T € aﬁpagrémg;m%,?ﬁpﬂwﬂﬁ?
a9 - B 3
c) 6 (D) 5
value of 25+12 x33-25+5 is
@A) 1216 L

® 795
©) 416 (D) 239%
25+12 (33-25+5 A €
(a) 1216 ® 7 9-;—
(c) 416 (D) 239%
The least number which 18 divisible by the numbers ] to 1018
(] 1680 B | 840
© 2520 D) 5040
“ﬁq_@@ﬁﬁ@ﬂa@?ﬁ 19 1oaﬁaﬁﬂmaﬁﬁﬁﬂm% ?
(A) 1680 B) 840
o 2520 G
Multiplicatio” of place yalues of 34 and 5 in the numbcr 60321045 is equal t

. 3 o

. |
n 60 £ | B) 600000
o 60000 - (D) 60000000

444 -
’ P.T.O.

45844 ||l||M1III||II|llllllll(lllMlWl
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¥ : | T (U SRR §
@I 60321045 F 3, 4 quT 5 % W A
(A) 60 | (B) 600000 ‘
(C) 60000 » (D) 60000000
106. Mathematlcs 1s the mirror of c1v1hzat10n and culture.” Thls statement is said by
(A) Bacon : , (B) Berthelot |
() Hogben | (D) Bertrand Russel
“niforer waegay aﬁtﬂgﬁwaﬁw%l”%mm#m ?
Q) ETmEA T b e
107. "The act of combining separate parts.” This method is called
(A)  Analytic Method (B)  Synthetic Method
(€)  Laboratory Method (D)  Project Method
S-S A Y S| o R e &
(4)  foreror fafy o (B veisor fafy
(C) wawTemen fafy ' (D) feier fafy

108. The miaximum success of remed1a1 teaching depends on

(A) time and duratlon

(B)  the correct identification of causes of problem
(C) knowledge of linguistic rules

(D) remedial teaching materials

mmmﬁrmﬁaa‘r&mmﬁﬁtwaﬁ
(A) TG T FEN W (B) W%Wﬁﬁaﬁmw" .
) W PR F IR () R R e

45844 'lllIl"lllllllmllfllllﬂlll - =
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- 109. Arrange in corréct order the steps of evaluation in mathematics :
1. Identification of situationé ' .
2. Selection of objectives |
3. Selection of evaluation methods
4 \Interpretations of evidences

S. Constructions of evaluation devices

W 21,354 : B) 2,3,1,54
. © 2,3,54,1 (D) 3,2,4,5,1
| Tﬁ““**ﬂ?mﬁFTﬁ?¥Wm#ian¥ﬁ¥anramﬁ}
2. I H T
3. ﬁsmaFTﬁﬁhﬁfan?nFr
4. SHIUT st =TEr  }.
5. e w0 et
A) 2,1,3,54  Bl..23,1,54
© 2,3,5,4,1 D 3,2,4,5,1

110. A student was asked to read the following number‘sb :
306, 406, 408, 4020 |
He reads as follows :
Thirty six, forty six, forty ei.ght,’ forty twenty
The reason for error in reading is that
(A)  the student does not like maths class and finds the class ‘boring»

(B) - the student has understood the concept of place vajye and its yse 4)
' VIR S0

(©) the student is not fit for study of maths
(D)  the student is not able © underSta#d the concept of
sing two-digit numbers only

plac T
fortable u ) Yalue and fee]g
comfortabls : 3

S |WRNGI

L P.T.Q_
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r ferdll ST H A%} & 11¢ sl P v & forq el AT :

306, 406, 408, 4000

(B) - W#Wmaﬁmﬁm%m%wmmﬁﬁ
) BT 9 st st 5 e v
(D)

(C)° Rs. 11,040
mmwwzaésw%ﬁqﬁw .ﬁhﬁ@ﬂ

P 9,000 %0 F % 850,

ferertt TR : et wrt

L (A) 2,040 %o B 3,060%0

(C) 11,040%0 (D) 12,060 To

T I
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112. A cylinder of height 4 cm is formed after folding ( without oyerlapping ) a

22 f:m x4 cin recfangular paper, thep curved surface area of this cy1indér, is

(A) ?8 % cm 2 | (B) 88 cﬁQ

(C) 176 ncm? (D) 176 cm 2 |
.QEF 22 {ft x4-ﬁ%aﬂwamwaﬁﬁ3ﬁ_(ﬁm m),ﬁ4ﬁ§m§
w?mmwn Wémmmw@mm
() 88xcm? \ . d =T A “
(C) 176 mcm 2 | ‘ | | (D) 176 Cm?

113. In the given ﬁgﬁre lines AB and CD arejintersecting at pointiO. If OE and OF are

angle bisectors. of ZBOD and ZCOB respectively, and if ZEOD = 25° then ~COF is

equal to

. B 65°
(A)  130° (P

' D 50°
€ 105° o

N T
k

PTO.
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E ﬁﬁ"ﬁfﬂ?ﬁmwwcpﬁiowuﬁ@?mﬁ*%lﬂinEﬁmQFW

~BOD aT .4COBQ? qufgaTe § U6 dfS LEOD = 25°, W2 CoF ¢

@) . 130° | ~ (B) 65°
(€) 105° (D) 50°

114. Area of a square fielq s 6400 m?. The distance travelled by a person, in

S rounds on its perimeter, is

(A)  320m (B) 160 m

(C) 16 km (D) 32km
wwﬁmﬁmmmmooaﬁﬁ%@wﬁﬁmwﬁmﬁw&ﬁﬁw
5 T T W 77 3 gy »
(A) 320 m » . B | om

(€) 16km o (O 39%m

115. Time taken to fill a water tank of Size2m x 1-5m x | by a tap with sp ‘d
’ spee
20 litre /minute, is °P
(A) 9 minutes _ (B) 1 hour 30 minutes

(C) 60 minutes ' (D) 2 hours 30 minutes

2mx1-5m x 1mm%ﬁ%hﬁmwm2o%/h2ﬁnﬁﬁqﬁ

ﬁmm%
& ofre | B 19 30 e
ofe D) 2% 30 fie

(©)

oo (NI
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; .116. The non-terminating recurring number 0-123 is equal to the fraction,

(A) 1_1020_30 ‘ (B) 3‘%
© == ~ o AL
| amaﬁﬁmmo-l_zé%mﬁﬁ%

(A) 1102—0% - (B %
© =X ' D) o

117. The cost of 16 coins of 50 paise is eqﬁa] to

A 4 coins of Re. 1 + 3 coins of Rs. 2
(B) 3 coins of Rs. 2 + 8 coins of 25 péu'se |
(C) 3 coins of Rs. 2 + 6 coins of 25 paise

(D) 2 coins of Rs. 2 + 3 coins of Re. 1
50 0 % 16 fGaehi 1 Hod T &

(A) 1@#4%’&%%6@%3\%3%
- i St + 251 % 8 e
© 23@%3W+25§@$6m
D) ngzmﬁn@%sﬁ?ﬁ

ATy 2 3
118. The right descending order of the following .numbers 7,3,
. 325
w 222 B 17
| | 253
© 332 P 7613

*Ssaa JIENMIME

A

§is '
6 IS

P.TQ,
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E‘] 54
- P demey 2 3 5 gt s WA R
7°'13°6 |
A 523 . 3 25
Kis 6'7'13 B 1376
© 332 253
| e P 7613
119, 'rhhevalueof_g 2 5
] . ) 15‘(23—46),18
@ 2 9
10 ® - .
c 17 pr I
9 -3 (D) %
-13 - Bl
15_(23 -4%) F TR
9
@A = 9
10 (B) =
17
© -3 (D) 17
30 -( ) 30,
120. The greatest ﬁumber which divides 244 and. 2052
. ’9< Such that j :
4 in each case, is =Tooatat lea;ves remainder
(A) 12 B e
(€ 30720 - D) 15360
¥ w3t He, FR 244 T 2052 ¥ fryfire P
B TR st Ry 4 Je@
I &, 98 Wed @
A 12 - ‘ (B 16
© 30720 D) 15360

o [NENNN =
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| SECTION -V / @€ -V .
- ENVIRONMENTAL STUDIES / YaiaiUT 37eqa

Th_ere are 30 questions in all in this section. '

All questions are compulsory.
T GUE ¥ el 30 WA
Wt e a7faTd €

121. Select the festival from the following which is celebrated on the full moon of

Shrév,an :
(&) Diwali | (B)  Holi
(C) Maha Shivaratri = (D)  Raksha Bandhan

Rreferfian 3 @ 39 R i 9P, S sTEor ) oforEr B T ST
(a) feamet (Bl Bl
(©) el R S D) wE
122. Sitabari fair ( Kumbha of Sahriya tribe ) is held at
(A) Arnod — Pratapgarh
(8) Chauth ka Barwada — Sawai Madhopur

(€) ' Kelwara — Baran

(D) Pushkar — Ajmer

s EION

P.T.0.




| 5=6' | | | STL-1
FRRTETSY 7 e (efen st 1 ) gt o &, &

@A ‘lauuilﬁ BRDIL L S B) Y T T ) SEIE lIIH'IEE.
(©) %E'IBT - 9RY (D) I - m
.123. State tree Of.Rajasthan is
(A) Khejm (B) Neem
©) Peepar (D) Amaltash
T 7 ST a7 &
(A) e ®
(©) duey D)  Femmy
| 124, Which of the follovvmg eniymes 18 not secreteq by Pancreas ?
(A) Renin (B)  Lipase
(C) ATrypsin (D) Amylase
Frfefaa & @ S9-a1 woms SRR TR AR T e &
@A) FE (B) oS
© Rfem (D)  TRRw

asses  |HINANN | - [eaa]
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© 125. Natiorial'Aquatic Axﬁmal of India }is
(A) Gangetic Dolphin . (B) Whale
(C) ~Lion ‘ (D) Chinkara
A T et W
(A) ﬂrﬁ'q Tifewa ®) &«
© ¥ - o few

126. Following traffic sign indicates

(A)' Cross road ;- By Pedestrian c:j._os_singA.

(C) Railway crossing . (D)‘ Narrow bridge

a) AN

c iran
45844 [T

P.T.O.
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127. Which deity (Lok Devta) of Rajasthan is known as ‘Deity of camels' ?
> (A} Gogaji (B) Ramdev ji
{C} Pabuji (D) Bhomia ji

T % o 39 93 o 3w % AW @ e A 2

VI

B) WA St
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130.

“(A)  A.G. Tansley

131.

59

Who coined the term 'biodiversity’ ?

(B) E. Haeckel

(€©) R H. Whittaker (D)  W.G.Rosen

e St (i) v et fean o 2
A) T S, et - B) 3. @

(C) 9R. Tw. wew D) = . A5

Greg(_)r Johann Mendel researched on

(A) Drosophila | : (B) Rat

: (C)' Garden pea | | (D) Yeast
IR W Auger ¥ WG 7 Far o
(A) SNIfpeT 9T B) W
(©) AW D) AR W

132.

() Rakesh Sharma (D)

(A) YT T

(é) TeseT vt

45844

e

Who was the first Indian astronaut ?
.(A) ~Kalpéna Chéwla . (B) Sunita Williams
.-Raja Cheri
o s Ay

®) Hﬁmﬁ[‘mw
o mﬁ

-
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134,

135.

133. Which of the follo

STL-1

. 60
known as 'Chidiyatunk’ ?

ing forts of Rajasthan is also

(A). Ranthambore fort (B) Mehrangarh fort '
(©) - Kumbhalgarh fort- (D) Sonar fort

(A) TTEER &% } ..
PRI, - ®

Qe - ). W el

. W. :
ater day is celebrated on

ay :
' (B)  22nd September

(C) ~ 02 '
nd February D) el
: : arch

@ 227 . - }(»B‘ §
| | B) | 22 sy
© 02 &R . (C
| ‘ | - D) 229
Which of th i i
ne following enzymes is presént in sah ;
‘ o ' : va ?
(A) Pepsin | (B) i)
’ - Trypsin
(C) Lactase | (D) " Ptyalin
i Pty !

frefefas o | '
et 5 & FI-J T, TR T S @ & 7

() e ‘
M, e ' '(B)"f.;'ﬁiq:l

s (C,' awg | (D Zrafere
wssas (RN 00 [@as]
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136 When was Clean India stswn launched ?
(A) 2nd October 2013 (B) . 2nd October, 2014
 (C)  2nd October, 2015 AR (D)  15th August, 2014

WS A v & & fohar o ?
(A) 2 AR, 2013 : B) 2 N, 2014
(©) 2 IR, 2015 (D) 15 3T, 2014

137. Match the following and choose the correct:
(a). Entamoeba histolytica

(1) Malaria
(ii) ‘Amoebiasié ‘ -(b) Mycdbacterium tuberculosis
(iii) -~ Tuberculosis 7 , () Plasmodium

(ivy Cholera (d) Vibrio cholerae -

@ @-@ @-@ @-
Qi) - (@) (v -

(iv) - (b)

B @-© @-@
@-b) Gi)-© 6@

© 6-@ I (&)
O - )-@ el S
frftfiaa @t gaferd T adl aa”r T TG B
@ e ' ;(a) @Zaarﬁar %@w-';i‘zw
@ oecEE o () TR SR
(i) &I (o eEifeEn
@ &1 | d) fofs e

@A) ({)- G)-@  G)-(d) (iv)- (b
B) @-( )-0 ()-@) () - (q)
© @-@ @-0 - - (v).q
D) (- @-@ (-0 (. )

assas [MUIIEERND
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138. The house made of snow is kriown as
(A) Igloo (B) Rain Basera

(C) Green house (D) Basera

o @ AT TN R FEAT
@ T (B) W E
(C) Bﬁﬁq{ - | (D) 9T

139. Distric V
t of Raja i
Jasthan, which shares its boundary with maximum number of
r

districts in the state is
(A) Bhilwar '
a
(B) Ajmer

(C) Barmer
(D)  Nagore

140. Thc 1 '
) a

(C) T'Shirt’ L 1
ungi, Cap (D)  Dhoti, Sari, Turh,
ri, an -

Fugl 1 G fam1 fact vg1 s &

(A) WIEl, FHE, @
' (B)  WTE, WTE, et

©) a—QTé, ﬁ"’ﬁ,a‘ﬁ‘ D) aret T
45844 | HIEINHIN (e i
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141, Principle of 'Spe,CiﬁC_tO General is used in
| (A : 'In,duCt.iye m_e,thOd ' - (B) © Synthetic rﬁetﬁod
€ He‘flriStiC method | : .I(D) 'Analytic metﬁod

‘W@W".wmmﬁﬁwwm% ,
"wq e fafy ;“ a (B)l ?ﬁ*“WTﬁﬁa
© r&mmdﬁh:ﬁﬂa_ - '(D)j .
142. Ranikhet diséase is associated \mth _

(A) = Fishes (B) Honeybees

(©) Hens | | (D)  Pigs

w R w) e

@ O ¥

'143. The biotic components of environment are

(A) Plants | " (B) -Mountains
(C) Fields - | - (D) . Rivers
@) e B wmE

@ W

~4s844 BN AR vy
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144, Disadvantage of deforestation 18

(A) Increase in soil erosion
(B)  Decrease in soil erosion
(€ Increase in number of wildlife

(D) Increase in rain

me%
(A) TR/ e F 5y
(B) T AWET o

(©) ¥ of gt v o ofe
(D) = 4 g

145, Opium is obtained from

(A) Papaber somniferum (B)  Aloe verq

(C) - Cinchona | ‘ (D) Centella asiaticq
IR AR W g & 2

@A) YR Qg (B) | T Ry

(© feet « D) I TR

ssess |

STL-1
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ho is th ’
146. W e first woman of the world who climbed Mount Everest successfully

from the Kangshung side ?
(A) Bachendri Pal . (B) Santosh Yadav

" (C) * Premlata Agrawal (D) Arunima Sinha

ﬁ%ﬁmﬁ'mammm-mmaﬁmm

A ?
(A) TR U @) Eaw acd
©) Sreerar R (D) 3rei faw

147. International Bio-diversity Day is celebrated on
(A) 21st May : ' (B) 23rd May

(C) 22nd May (D)  24th May

ey rar-ferfervren fe ﬁ-ﬁq f& T st € 2
A ‘2-11:'? s B) 23%%
(©) zéné | ‘: ) 247
148.‘ Radio broadgésting in Ir;dia starté;i in the year

(A) 1926 @) '1927'

© 1928 e SO
g | (D) 1929

sssss. [N R

A



(=

iag

150

66

L P |y 1927
1 1eps o 1929

Which disease is caused by the deficiency of Vitamin-A ?
Al Scury (B)  Nightblindness
O Rickets (D)  Beri-beri

h&a@dmﬂm-mmmt?
T RG L

©  Tezw (D)  «0-AN

Whach 1s the biggest planet of the solar system ?

A Jupeter (8) Saturn

€ Uranus (Dy Neptune

TR W ReE AT w AW )

T sl
@ olew ity a8

e s N maa————

ssses | NI MMM [4a4]
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